H £ 0l & AF & S

Al A

FA OEEXIRAEH
B FAAZ 2AI|P 1=
Sl disda EERE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OtSAl=48H 5,547,063 5,528,894 18,169
= 125,042
Jl 891,998
= 1,008,383
Al 3,521,640
elAd 2FJe A= 5,525,425 5,500,694 16,731
= 125,042
) 891,998
= 1,008,383
Al 3,500,002
il=raleh 181,800 205,800 224,000
OtEXI= XIEASE 181,800 205,800 24,000
201 Ler=23 | 180,000 204,000 24,000
01 At2teltl 180,000 200,000 /20,000
OUtSA= A= 180,000
203 =8| 1,800 1,800
03 A=A H R FZ| 1,800 1,800
OOISXIR XA 1,800
HEA 5,343,625 5,303,894 39,731
= 125,042
Jl 891,998
= 1,008,383
Al 3,318,202
A=A HE =2 51,100 51,100 0
Il 25,550
Al 25,550
307 gl2to| & 51,100 51,100 0
Jl 25,550
Al 25,550
05 git?(& = 51,100 51,100 0
OFMALI=XNE 2 51,100
Jl 25,550
Al 25,550
JAAL=ZSTNHE UK 911,940 861,120 50,820
Jl 455,970
Al 455,970
307 elztol & 911,940 861,120 50,820
) 455,970
Al 455,970
05 212t =S 911,940 861,120 50,820
OFMAHLFXIHEH AHKXE 911,940
Il 455,970
Al 455,970




FA OEEXIRAEH
ZE: ZAAY 2Y|Y 2
g9l A2 EER-E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SSINALSTA 517,300 508,600 8,700
Jl 258,650
== 51,730
Al 206,920
307 212+01& 517,300 508,600 8,700
7l 258,650
=S 51,730
Al 206,920
05 git?(& = 517,300 508,600 8,700
OSEZLALSTAI 517,300
Jl 258,650
= 51,730
Al 206,920
Aaoed & HAHNTS A 81,440 81,440 0
Jl 40,720
Al 40,720
307 212+01& 81,440 81,440 0
Jl 40,720
Al 40,720
05 21t = 81,440 81,440 0
ONANY X JAUATSIAIY 81,440
Jl 40,720
Al 40,720
SAALSAHE GEAY S X2 222,216 216,564 5,652
Il 111,108
Al 111,108
307 @I2t01 & 222,216 216,564 5,652
Jl 111,108
Al 111,108
05 2ItRIE = 222,216 216,564 5,652
OZAALFXIHE NHaUTAIS XIS 222,216
Jl 111,108
Al 111,108
Aratoilet oelxls K& 392,000 347,180 44,820
= 117,600
Al 274,400
307 @120l & 392,000 347,180 44,820
s 117,600
Al 274,400
05 2IR”IRIE = 392,000 347,180 44,820
OXaoe delxls X 392,000
[ 117,600
Al 274,400




A DISXRHH
ZE: ZAAY 2Y|Y 2
o7 A2 (Erol &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
SsASENIMAEHESS 230,990 227,380 3,610
= 85,495
Al 145,495
307 212+01™ 230,990 227,380 3,610
= 85,495
Al 145,495
05 QIZIRIErZ 230,990 227,380 3,610
OES2ISE XA (At 22l LA
IHA) 230,990
= 85,495
Al 145,495
AR XIZHl XI& 22,000 41,540 19,540
= 11,000
Al 11,000
307 212+01 A 22,000 41,540 19,540
= 11,000
Al 11,000
01 22 & 35| 22,000 41,540 19,540
OFAIZSA XIZHl K& 22,000
= 11,000
Al 11,000
SAALAIEZY 6,048 6,720 ABT2
201 Ler23| 6,048 6,720 NB72
01 AtR2elt] 6,048 6,720 ABT2
OFMHLAAH M) RS 2Y 4,128
OFMAHLAIEZ S 1,920
SATHEAIE 29X 2,718,369 2,682,530 35,839
T 815,511
Al 1,902,858
307 2I2+01™ 2,718,369 2,682,530 35,839
T 815,511
Al 1,902,858
11 AR SXAMEE R 2,718,369 2,682,530 35,839
OFUMEALE 2K 2,718,369
= 815,511
Al 1,902,858
SATHEAE SAL SEY 66,240 65,520 720
& 19,872
Al 46,368
301 LB F 66,240 0 66,240
T 19,872
Al 46,368
02 ASI2EAH S (HUAHS, NSTHA) 66,240 0 66,240




FA OEEXIRAEH
M MAAY 22| A%
g9l A2 EER-E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZAMEAIE SAHA S84 66,240
= 19,872
Al 46,368
ARISXIAL SXPHE K& 10,200 10,200
307 @20l & 10,200 10,200
1 AMISXAIEEX 10,200 10,200
OFATHEAIE SAL =X8| K& 10,200
FeEEA HEAE 63,000 63,000 0
301 22N = 63,000 63,000
14 JIEt2 = 63,000 63,000
OXtE X2l A& 63,000
SeEEL 2ISXE 10,000 0 10,000
406 J|EHAH=0I A 10,000 0 10,000
01 JIEtAH=01 A 10,000 0 10,000
ONENE =S ANESS 10,000
SUMEANE JIsEZ 40,782 0 40,782
= 28,547
= 3,670
Al 8,565
307 elztol & 40,782 0 40,782
= 28,547
< 3,670
Al 8,565
11 AMEISXAEEE 40,782 0 40,782
OFUEAE JISES 40,782
= 28,547
< 3,670
Al 8,565
AY2SBHI(0ISRIFHEH) 21,638 19,200 2,438
[=23HI(0ISXIRHH) 21,638 19,200 2,438
J|2&HI(0SXISHH) 21,638 19,200 2,438
201 ger=3| 13,058 10,620 2,438
01 AtR2te|H] 9,558 10,620 1,062
OZEt=EH| 5,670
CEE] 3,888
02 S5=2g4l 3,500 0 3,500
OSES=gL A 1,500
OXtgrs el 2,000
202 04| 6,480 6,480
01 2L AL 6,480 6.480
OJ|28 R0 6,480
203 gF=4| 2,100 2,100 0




FA OIEXIRAEH
M HAHRAZH|(OISIIKEH)
&l JI=2ZHI(0FSXIREE)
5 — q 4
SA - HY - S9I(3) - HIRAY - BES ofl & e
04 | 2,100

| 175,000& « 122 2,100




